Tabulation - The Replacement of the Butternut Road Bridge, Structure #21-7.06 in Burton Township Bid Opening - February 24, 2010

Philip Miller Construction

C.I.R., Inc.

Geauga County Estimate: \$170,000.00

					i illip ivillei Co	JII SU UCUOII	O.I.IX., IIIO.	
					PO Box 790		2856 N. County	/ Line Rd.
					Middlefield, Ol	H 44062	Geneva, OH 44	1041
ITEM	ODOT	DESCRIPTION	ESTII	MATED				
NO.	NO.	OF ITEM	QUAN	NTITIES	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID
1	103	Contract Performance Bond and Premium	1	Lump	\$4,000.00	\$4,000.00	\$1,700.00	\$1,700.00
2	201	Clearing and Grubbing	1	Lump	\$1,000.00	\$1,000.00	\$100.00	\$100.00
3	202	Pipe Removed, 24" and Under	30	L.F.	\$10.00	\$300.00	\$2.00	\$60.00
4	202	Guardrail Removed	350	L.F.	\$2.00	\$700.00	\$2.00	\$700.00
5	202	Wearing Course Removed	18.0	S.Y.	\$50.00	\$900.00	\$40.00	\$720.00
6	202	Structure Removed, As Per Plan	1	Lump	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00
7	203	Borrow	400	C.Y.	\$10.00	\$4,000.00	\$10.00	\$4,000.00
8	203	Excavation	50	C.Y.	\$6.00	\$300.00	\$8.00	\$400.00
9	203	Ditch Relocation	350	L.F.	\$3.00	\$1,050.00	\$3.00	\$1,050.00
10	207	Perimeter Filter Fabric Fence	800	L.F.	\$1.00	\$800.00	\$2.00	\$1,600.00
11	207	Straw and/or Hay Bales	20	Each	\$5.00	\$100.00	\$5.00	\$100.00
12	301	Asphalt Concrete Base, PG 64-22	40.0	C.Y.	\$200.00	\$8,000.00	\$187.00	\$7,480.00
13	304	Aggregate Base, Limestone	100.0	C.Y.	\$50.00	\$5,000.00	\$46.00	\$4,600.00
14	411	Stabilized Crushed Aggregate	30.0	C.Y.	\$50.00	\$1,500.00	\$60.00	\$1,800.00
15	448	Asphalt Concrete Surface Course, Type 1,	10.0	C.Y.				
13	440	PG 64-22	10.0	0.1.	\$310.00	\$3,100.00	\$305.00	\$3,050.00
16	503	Cofferdams, Cribs and Sheeting	1	Lump	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
17	511	Concrete, Misc: Cutoff Walls, As Per Plan	10.0	C.Y.	\$250.00	\$2,500.00	\$234.00	\$2,340.00
18	512	Type 2 Waterproofing	215.0	S.Y.	\$7.00	\$1,505.00	\$8.00	\$1,720.00
19	603	20'x 4' Conduit, Type A, 706.05	74.0	L.F.	\$980.00	\$72,520.00	\$1,025.00	\$75,850.00
20	603	18" Conduit, Type D, 707.33, As Per Plan	180.0	Each	\$16.50	\$2,970.00	\$23.00	\$4,140.00
21	614	Maintaining Traffic	1	Lump	\$1,000.00	\$1,000.00	\$950.00	\$950.00
22	623	Construction Layout Stakes	1	Lump	\$500.00	\$500.00	\$250.00	\$250.00
23	624	Mobilization	1	Lump	\$500.00	\$500.00	\$2,000.00	\$2,000.00
24	642	Edge Line, Type 1	0.04	Mile	\$5,000.00	\$200.00	\$3,500.00	\$140.00
25	642	Center Line, Type 1	0.02	Mile	\$5,000.00	\$100.00	\$4,000.00	\$80.00
26	659	Seeding and Mulching, Class 3A	800	S.Y.	\$2.00	\$1,600.00	\$1.00	\$800.00
27	671	Erosion Control Mat, Type G	400.0	S.Y.	\$2.50	\$1,000.00	\$2.25	\$900.00
28	838	Gabions, As Per Plan	21	C.Y.	\$210.00	\$4,410.00	\$155.00	\$3,255.00
_•			 ·		ψ <u>2</u> 10.00	Ψ., 110.00	ψ.00.00 =	ψο,200.00
					TOTAL	\$122,055.00	TOTAL	\$122,885.00

Trax Construction

38025 Second Street

Tabulation - The Replacement of the Butternut Road Bridge, Structure #21-7.06 in Burton Township Bid Opening - February 24, 2010

Winters & Lewis Excavating

PO Box 1040

Geauga County Estimate: \$170,000.00

					Chardon, OH 44024		Willoughby, OH 44094	
ITEM	ODOT	DESCRIPTION	ESTI	MATED			· · · · · · · · · · · · · · · · · · ·	
NO.	NO.	OF ITEM	QUAI	NTITIES	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID
1	103	Contract Performance Bond and Premium	1	Lump	\$3,000.00	\$3,000.00	\$5,050.00	\$5,050.00
2	201	Clearing and Grubbing	1	Lump	\$450.00	\$450.00	\$1,700.00	\$1,700.00
3	202	Pipe Removed, 24" and Under	30	L.F.	\$4.00	\$120.00	\$6.00	\$180.00
4	202	Guardrail Removed	350	L.F.	\$3.75	\$1,312.50	\$3.00	\$1,050.00
5	202	Wearing Course Removed	18.0	S.Y.	\$43.00	\$774.00	\$15.00	\$270.00
6	202	Structure Removed, As Per Plan	1	Lump	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00
7	203	Borrow	400	C.Y.	\$8.90	\$3,560.00	\$8.00	\$3,200.00
8	203	Excavation	50	C.Y.	\$26.00	\$1,300.00	\$8.00	\$400.00
9	203	Ditch Relocation	350	L.F.	\$3.90	\$1,365.00	\$7.00	\$2,450.00
10	207	Perimeter Filter Fabric Fence	800	L.F.	\$1.50	\$1,200.00	\$0.50	\$400.00
11	207	Straw and/or Hay Bales	20	Each	\$6.00	\$120.00	\$5.00	\$100.00
12	301	Asphalt Concrete Base, PG 64-22	40.0	C.Y.	\$183.00	\$7,320.00	\$175.00	\$7,000.00
13	304	Aggregate Base, Limestone	100.0	C.Y.	\$40.50	\$4,050.00	\$54.00	\$5,400.00
14	411	Stabilized Crushed Aggregate	30.0	C.Y.	\$73.00	\$2,190.00	\$54.00	\$1,620.00
15	448	Asphalt Concrete Surface Course, Type 1, PG 64-22	10.0	C.Y.	\$300.00	\$3,000.00	\$280.00	\$2,800.00
16	503	Cofferdams, Cribs and Sheeting	1	Lump	\$1,980.00	\$1,980.00	\$2,100.00	\$2,100.00
17	511	Concrete, Misc: Cutoff Walls, As Per Plan	10.0	C.Y.	\$275.00	\$2,750.00	\$250.00	\$2,500.00
18	512	Type 2 Waterproofing	215.0	S.Y.	\$10.80	\$2,322.00	\$4.00	\$860.00
19	603	20'x 4' Conduit, Type A, 706.05	74.0	L.F.	\$948.00	\$70,152.00	\$1,129.00	\$83,546.00
20	603	18" Conduit, Type D, 707.33, As Per Plan	180.0	Each	\$26.50	\$4,770.00	\$25.00	\$4,500.00
21	614	Maintaining Traffic	1	Lump	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
22	623	Construction Layout Stakes	1	Lump	\$500.00	\$500.00	\$1,000.00	\$1,000.00
23	624	Mobilization	1	Lump	\$1,500.00	\$1,500.00	\$5,409.00	\$5,409.00
24	642	Edge Line, Type 1	0.04	Mile	\$12,500.00	\$500.00	\$10,000.00	\$400.00
25	642	Center Line, Type 1	0.02	Mile	\$18,000.00	\$360.00	\$10,000.00	\$200.00
26	659	Seeding and Mulching, Class 3A	800	S.Y.	\$4.37	\$3,496.00	\$2.00	\$1,600.00
27	671	Erosion Control Mat, Type G	400.0	S.Y.	\$1.85	\$740.00	\$2.00	\$800.00
28	838	Gabions, As Per Plan	21	C.Y.	\$215.00	\$4,515.00	\$220.00	\$4,620.00
					TOTAL	\$129,846.50	TOTAL	\$147,155.00

Tabulation - The Replacement of the Butternut Road Bridge, Structure #21-7.06 in Burton Township Bid Opening - February 24, 2010

T.J. Smith Excavating Easton Leasing
11230 Hosford Road 1373 St. Rt. 322
Chardon, OH 44024 Orwell, OH 44076

Geauga County

Estimate: \$170,000.00

ITEM	ODOT	DESCRIPTION	ESTI	MATED	Chardon, Orr 4	4024	Orwell, Orr 440	570
NO.	NO.	OF ITEM		NTITIES	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID
1	103	Contract Performance Bond and Premium	1	Lump	\$4,500.00	\$4,500.00	\$3,500.00	\$3,500.00
2	201	Clearing and Grubbing	1	Lump	\$2,200.00	\$2,200.00	\$1,000.00	\$1,000.00
3	202	Pipe Removed, 24" and Under	30	L.F.	\$10.00	\$300.00	\$5.00	\$150.00
4	202	Guardrail Removed	350	L.F.	\$10.00	\$3,500.00	\$2.00	\$700.00
5	202	Wearing Course Removed	18.0	S.Y.	\$100.00	\$1,800.00	\$50.00	\$900.00
6	202	Structure Removed, As Per Plan	1	Lump	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00
7	203	Borrow	400	C.Y.	\$10.00	\$4,000.00	\$8.00	\$3,200.00
8	203	Excavation	50	C.Y.	\$20.00	\$1,000.00	\$10.00	\$500.00
9	203	Ditch Relocation	350	L.F.	\$15.00	\$5,250.00	\$5.00	\$1,750.00
10	207	Perimeter Filter Fabric Fence	800	L.F.	\$2.00	\$1,600.00	\$2.00	\$1,600.00
11	207	Straw and/or Hay Bales	20	Each	\$10.00	\$200.00	\$5.00	\$100.00
12	301	Asphalt Concrete Base, PG 64-22	40.0	C.Y.	\$185.00	\$7,400.00	\$220.00	\$8,800.00
13	304	Aggregate Base, Limestone	100.0	C.Y.	\$50.00	\$5,000.00	\$45.00	\$4,500.00
14	411	Stabilized Crushed Aggregate	30.0	C.Y.	\$45.00	\$1,350.00	\$55.00	\$1,650.00
15	448	Asphalt Concrete Surface Course, Type 1, PG 64-22	10.0	C.Y.	\$300.00	\$3,000.00	\$330.00	\$3,300.00
16	503	Cofferdams, Cribs and Sheeting	1	Lump	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00
17	511	Concrete, Misc: Cutoff Walls, As Per Plan	10.0	C.Y.	\$250.00	\$2,500.00	\$275.00	\$2,750.00
18	512	Type 2 Waterproofing	215.0	S.Y.	\$15.00	\$3,225.00	\$22.00	\$4,730.00
19	603	20'x 4' Conduit, Type A, 706.05	74.0	L.F.	\$917.00	\$67,858.00	\$970.00	\$71,780.00
20	603	18" Conduit, Type D, 707.33, As Per Plan	180.0	Each	\$20.00	\$3,600.00	\$20.00	\$3,600.00
21	614	Maintaining Traffic	1	Lump	\$3,200.00	\$3,200.00	\$4,500.00	\$4,500.00
22	623	Construction Layout Stakes	1	Lump	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
23	624	Mobilization	1	Lump	\$8,000.00	\$8,000.00	\$15,000.00	\$15,000.00
24	642	Edge Line, Type 1	0.04	Mile	\$12,500.00	\$500.00	\$13,000.00	\$520.00
25	642	Center Line, Type 1	0.02	Mile	\$25,000.00	\$500.00	\$20,000.00	\$400.00
26	659	Seeding and Mulching, Class 3A	800	S.Y.	\$3.00	\$2,400.00	\$2.00	\$1,600.00
27	671	Erosion Control Mat, Type G	400.0	S.Y.	\$4.00	\$1,600.00	\$2.00	\$800.00
28	838	Gabions, As Per Plan	21	C.Y.	\$110.00	\$2,310.00	\$131.50	\$2,761.50
					TOTAL	\$150,793.00	TOTAL	\$154,591.50

Union Ind. Contractors

Tabulation - The Replacement of the Butternut Road Bridge, Structure #21-7.06 in Burton Township Bid Opening - February 24, 2010

Rootstown Excavating

Geauga County

Estimate: \$170,000.00

					Nooisiowii Excavating		DO Day 4740	
					3584 Cook Ro		PO Box 1718	1 4 4005 4740
					Rootstown, C)H 44272	Ashtabula, Ol	1 44005-1718
ITEM	ODOT	DESCRIPTION		MATED	LINIT DID	TOTAL DID	LINIT DID	TOTAL DID
NO.	NO.	OF ITEM	_	NTITIES	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID
1	103	Contract Performance Bond and Premium	1	Lump	\$4,500.00	\$4,500.00	\$1,205.00	\$1,205.00
2	201	Clearing and Grubbing	1	Lump	\$2,000.00	\$2,000.00	\$542.00	\$542.00
3	202	Pipe Removed, 24" and Under	30	L.F.	\$15.00	\$450.00	\$20.00	\$600.00
4	202	Guardrail Removed	350	L.F.	\$3.00	\$1,050.00	\$2.40	\$840.00
5	202	Wearing Course Removed	18.0	S.Y.	\$15.00	\$270.00	\$90.00	\$1,620.00
6	202	Structure Removed, As Per Plan	1	Lump	\$15,000.00	\$15,000.00	\$7,653.00	\$7,653.00
7	203	Borrow	400	C.Y.	\$8.00	\$3,200.00	\$8.00	\$3,200.00
8	203	Excavation	50	C.Y.	\$15.00	\$750.00	\$16.00	\$800.00
9	203	Ditch Relocation	350	L.F.	\$5.00	\$1,750.00	\$9.00	\$3,150.00
10	207	Perimeter Filter Fabric Fence	800	L.F.	\$1.75	\$1,400.00	\$2.30	\$1,840.00
11	207	Straw and/or Hay Bales	20	Each	\$10.00	\$200.00	\$8.00	\$160.00
12	301	Asphalt Concrete Base, PG 64-22	40.0	C.Y.	\$175.00	\$7,000.00	\$185.00	\$7,400.00
13	304	Aggregate Base, Limestone	100.0	C.Y.	\$55.00	\$5,500.00	\$55.00	\$5,500.00
14	411	Stabilized Crushed Aggregate	30.0	C.Y.	\$80.00	\$2,400.00	\$65.00	\$1,950.00
15	448	Asphalt Concrete Surface Course, Type 1,	10.0	C.Y.				
13	440	PG 64-22	10.0	0.1.	\$225.00	\$2,250.00	\$300.00	\$3,000.00
16	503	Cofferdams, Cribs and Sheeting	1	Lump	\$4,500.00	\$4,500.00	\$6,399.00	\$6,399.00
17	511	Concrete, Misc: Cutoff Walls, As Per Plan	10.0	C.Y.	\$450.00	\$4,500.00	\$446.00	\$4,460.00
18	512	Type 2 Waterproofing	215.0	S.Y.	\$15.00	\$3,225.00	\$21.00	\$4,515.00
19	603	20'x 4' Conduit, Type A, 706.05	74.0	L.F.	\$1,010.00	\$74,740.00	\$1,110.00	\$82,140.00
20	603	18" Conduit, Type D, 707.33, As Per Plan	180.0	Each	\$22.00	\$3,960.00	\$29.00	\$5,220.00
21	614	Maintaining Traffic	1	Lump	\$2,500.00	\$2,500.00	\$2,800.00	\$2,800.00
22	623	Construction Layout Stakes	1	Lump	\$1,200.00	\$1,200.00	\$984.00	\$984.00
23	624	Mobilization	1	Lump	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00
24	642	Edge Line, Type 1	0.04	Mile	\$20,000.00	\$800.00	\$12,500.00	\$500.00
25	642	Center Line, Type 1	0.02	Mile	\$30,000.00	\$600.00	\$14,000.00	\$280.00
26	659	Seeding and Mulching, Class 3A	800	S.Y.	\$1.50	\$1,200.00	\$2.50	\$2,000.00
27	671	Erosion Control Mat, Type G	400.0	S.Y.	\$7.00	\$2,800.00	\$2.60	\$1,040.00
28	838	Gabions, As Per Plan	21	C.Y.	\$250.00	\$5,250.00	\$242.00	\$5,082.00
					=		=	

TOTAL

\$154,995.00

TOTAL

\$158,880.00

JADCO Construction Services

9901 York Theta Drive

* - Incorrect Multiplication

Tabulation - The Replacement of the Butternut Road Bridge, Structure #21-7.06 in Burton Township Bid Opening - February 24, 2010

Mr. Excavator

8616 Euclid-Chardon Road

Geauga County

Estimate: \$170,000.00

					Kirtland, OH 44094		North Royalton, OH 44133	
ITEM	ODOT	DESCRIPTION	ESTII	MATED	, ,		7	, -
NO.	NO.	OF ITEM	QUAN	NTITIES	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID
1	103	Contract Performance Bond and Premium	1	Lump	\$1,700.00	\$1,700.00	\$4,000.00	\$4,000.00
2	201	Clearing and Grubbing	1	Lump	\$515.00	\$515.00	\$12,000.00	\$12,000.00
3	202	Pipe Removed, 24" and Under	30	L.F.	\$5.00	\$150.00	\$8.00	\$240.00
4	202	Guardrail Removed	350	L.F.	\$3.80	\$1,330.00	\$5.00	\$1,750.00
5	202	Wearing Course Removed	18.0	S.Y.	\$44.29	\$797.22	\$40.00	\$720.00
6	202	Structure Removed, As Per Plan	1	Lump	\$8,453.83	\$8,453.83	\$7,000.00	\$7,000.00
7	203	Borrow	400	C.Y.	\$13.60	\$5,440.00	\$12.00	\$4,800.00
8	203	Excavation	50	C.Y.	\$11.48	\$574.00	\$20.00	\$1,000.00
9	203	Ditch Relocation	350	L.F.	\$6.33	\$2,215.50	\$6.00	\$2,100.00
10	207	Perimeter Filter Fabric Fence	800	L.F.	\$1.93	\$1,544.00	\$1.30	\$1,040.00
11	207	Straw and/or Hay Bales	20	Each	\$8.09	\$161.80	\$3.00	\$60.00
12	301	Asphalt Concrete Base, PG 64-22	40.0	C.Y.	\$188.49	\$7,539.60	\$185.00	\$7,400.00
13	304	Aggregate Base, Limestone	100.0	C.Y.	\$31.68	\$3,168.00	\$49.00	\$4,900.00
14	411	Stabilized Crushed Aggregate	30.0	C.Y.	\$31.68	\$950.40	\$55.00	\$1,650.00
15	448	Asphalt Concrete Surface Course, Type 1, PG 64-22	10.0	C.Y.	\$309.00	\$3,090.00	\$260.00	\$2,600.00
16	503	Cofferdams, Cribs and Sheeting	1	Lump	\$500.00	\$500.00	\$10,000.00	\$10,000.00
17	511	Concrete, Misc: Cutoff Walls, As Per Plan	10.0	C.Y.	\$322.07	\$3,220.70	\$500.00	\$5,000.00
18	512	Type 2 Waterproofing	215.0	S.Y.	\$3.50	\$752.50	\$5.00	\$1,075.00
19	603	20'x 4' Conduit, Type A, 706.05	74.0	L.F.	\$1,306.14	\$96,654.36	\$1,082.00	\$80,068.00
20	603	18" Conduit, Type D, 707.33, As Per Plan	180.0	Each	\$53.62	\$9,651.60	\$30.00	\$5,400.00
21	614	Maintaining Traffic	1	Lump	\$3,990.22	\$3,990.22	\$3,200.00	\$3,200.00
22	623	Construction Layout Stakes	1	Lump	\$1,993.00	\$1,993.00	\$1,600.00	\$1,600.00
23	624	Mobilization	1	Lump	\$2,850.00	\$2,850.00	\$4,000.00	\$4,000.00
24	642	Edge Line, Type 1	0.04	Mile	\$12,875.00	\$515.00	\$400.00	\$16.00 *
25	642	Center Line, Type 1	0.02	Mile	\$18,540.00	\$370.80	\$200.00	\$4.00 *
26	659	Seeding and Mulching, Class 3A	800	S.Y.	\$2.52	\$2,016.00	\$1.20	\$960.00
27	671	Erosion Control Mat, Type G	400.0	S.Y.	\$4.02	\$1,608.00	\$4.00	\$1,600.00
28	838	Gabions, As Per Plan	21	C.Y.	\$136.05	\$2,857.05	\$120.00	\$2,520.00
					TOTAL	\$164,608.58	TOTAL	\$166,703.00

* - Incorrect Multiplication

Clemson Excavating

Tabulation - The Replacement of the Butternut Road Bridge, Structure #21-7.06 in Burton Township Bid Opening - February 24, 2010

Longo Sewer Construction

Geauga County Estimate: \$170,000.00

					4197 Greenva		9954 Old Stat	•
					So. Euclid, Ol	H 44121	Chardon, OH	44024
ITEM	ODOT	DESCRIPTION		MATED				
NO.	NO.	OF ITEM		NTITIES	UNIT BID	TOTAL BID	UNIT BID	TOTAL BID
1	103	Contract Performance Bond and Premium	1	Lump	\$3,000.00	\$3,000.00	\$2,450.00	\$2,450.00
2	201	Clearing and Grubbing	1	Lump	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
3	202	Pipe Removed, 24" and Under	30	L.F.	\$10.00	\$300.00	\$2.00	\$60.00
4	202	Guardrail Removed	350	L.F.	\$3.00	\$1,050.00	\$2.00	\$700.00
5	202	Wearing Course Removed	18.0	S.Y.	\$50.00	\$900.00	\$50.00	\$900.00
6	202	Structure Removed, As Per Plan	1	Lump	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00
7	203	Borrow	400	C.Y.	\$15.00	\$6,000.00	\$12.00	\$4,800.00
8	203	Excavation	50	C.Y.	\$10.00	\$500.00	\$8.00	\$400.00
9	203	Ditch Relocation	350	L.F.	\$5.00	\$1,750.00	\$20.00	\$7,000.00
10	207	Perimeter Filter Fabric Fence	800	L.F.	\$2.00	\$1,600.00	\$2.00	\$1,600.00
11	207	Straw and/or Hay Bales	20	Each	\$10.00	\$200.00	\$4.00	\$80.00
12	301	Asphalt Concrete Base, PG 64-22	40.0	C.Y.	\$210.00	\$8,400.00	\$200.00	\$8,000.00
13	304	Aggregate Base, Limestone	100.0	C.Y.	\$50.00	\$5,000.00	\$45.00	\$4,500.00
14	411	Stabilized Crushed Aggregate	30.0	C.Y.	\$50.00	\$1,500.00	\$50.00	\$1,500.00
15	448	Asphalt Concrete Surface Course, Type 1, PG 64-22	10.0	C.Y.	\$350.00	\$3,500.00	\$300.00	\$3,000.00
16	503	Cofferdams, Cribs and Sheeting	1	Lump	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
17	511	Concrete, Misc: Cutoff Walls, As Per Plan	10.0	C.Y.	\$707.00	\$7,070.00	\$250.00	\$2,500.00
18	512	Type 2 Waterproofing	215.0	S.Y.	\$10.00	\$2,150.00	\$10.50	\$2,257.50
19	603	20'x 4' Conduit, Type A, 706.05	74.0	L.F.	\$1,185.00	\$87,690.00	\$1,225.00	\$90,650.00
20	603	18" Conduit, Type D, 707.33, As Per Plan	180.0	Each	\$32.00	\$5,760.00	\$40.00	\$7,200.00
21	614	Maintaining Traffic	1	Lump	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00
22	623	Construction Layout Stakes	1	Lump	\$1,500.00	\$1,500.00	\$1,950.00	\$1,950.00
23	624	Mobilization	1	Lump	\$3,000.00	\$3,000.00	\$17,410.50	\$17,410.50
24	642	Edge Line, Type 1	0.04	Mile	\$25,000.00	\$1,000.00	\$12,500.00	\$500.00
25	642	Center Line, Type 1	0.02	Mile	\$25,000.00	\$500.00	\$18,000.00	\$360.00
26	659	Seeding and Mulching, Class 3A	800	S.Y.	\$3.00	\$2,400.00	\$1.00	\$800.00
27	671	Erosion Control Mat, Type G	400.0	S.Y.	\$5.00	\$2,000.00	\$1.00	\$400.00
28	838	Gabions, As Per Plan	21	C.Y.	\$300.00	\$6,300.00	\$142.00	\$2,982.00
					TOTAL	\$170,070.00	TOTAL	\$175,000.00